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QUESTION 1

Your customer has employees located in four countries (Unites States, Japan, India, and Germany) and eachcountry
has a specific salary range. How would you configure the salary bases? (Choose the best answer.) 

A. Create one salary basis and four different grade rates, and attach the grade rate to the salary basis at the employee
level. 

B. Create four salarybases and one grade rate, and define different ranges for the same grade rate while attaching the
grade rate to the salary bases. 

C. Create four salary bases and four grade rates, and attach the grade rates to the salary bases. 

D. Create one salary basis and one grade rate, and define different ranges for the salary basis at the employee level. 

Correct Answer: C 

 

QUESTION 2

Which statement is trueregarding elements? (Choose the best answer.) 

A. Elements have possibly multiple primary classifications, one secondary classification, and one subclassification. 

B. Elements have one primary classification, one secondary classification, and one subclassification. 

C. Elements have possibly multiple primary classifications, possible multiple secondary classifications, and possibly
multiple subclassifications. 

D. Elements have one primary classification, possibly multiple secondary classifications, and possibly multiple
subclassifications. 

E. Elements have one primary classification, one secondary classification, and possibly multiple subclassifications. 

Correct Answer: E 

Subclassifications provide a way to feed balances. Elements can have only one primary and secondary classification,
but multiple subclassifications. You can create subclassifications or use predefined ones. Once a subclassification is
associated with a classification it cannot be associated with another classification. A subclassification name can be
reused under different primary classifications, but you will have to create separate balance feeds for each
subclassification with the same name. 

 

QUESTION 3

Which alert is advised to be disabled when you are using HCM co-existence between Oracle PeopleSoft HCM and
Oracle Fusion Compensation? (Choose the best answer.) 

A. Allocation exceeding target 

B. Employee termination 

C. Leave of Absence 

1Z0-1049-22 Study Guide | 1Z0-1049-22 Exam Questions | 1Z0-1049-22 Braindumps                                2 / 3

https://www.pass4itsure.com/1z0-1049-22.html
https://www.pass4itsure.com/1z0-1049-22.html
https://www.pass4itsure.com/1z0-1049-22.html


https://www.pass4itsure.com/1z0-1049-22.html
2024 Latest pass4itsure 1Z0-1049-22 PDF and VCE dumps Download

D. Any custom alert 

Correct Answer: C 

Reference:https://docs.oracle.com/cd/E37583_01/doc.1116/e22776/F387136AN11E5B.ht m(see the note under
worksheet) 

 

QUESTION 4

While configuring Workforce Compensation Plan, you specify Performance Rating date in Plan Cycle as the same in
multipleplans. 

What will happen when the manager updates a compensation performance rating in the worksheet of one plan?
(Choose the best answer.) 

A. The rating will be available to only the plan where it is updated. 

B. The rating will be available to all plansthat are currently active. 

C. The rating will be available to all plans with the same Performance Rating date in Plan Cycle. 

D. The rating will be available to only the plans where the same manager is involved. 

Correct Answer: B 

 

QUESTION 5

A corporation has implemented Oracle Fusion Workforce Compensation. As a Fusion consultant, you are required to set
up Calculation Factors for the deduction elements setup. 

Which two statements are correct regarding the Calculation Factors? (Choose two.) 

A. Calculation Factors indicate which deduction range to use whencalculating the deduction amount. 

B. The Manage Deduction Ranges task in the Payroll Calculation work area is used to view the calculation factors
defined. 

C. Calculation Factors define which classifications of earnings to consider when calculating the basis for the deduction
element. 

D. The Manage Deduction Group Rates task in the Payroll Calculation work area is used to view the calculation factors
defined. 

Correct Answer: AB 
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